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mol/L mol/L

CO32 OH

2NaOH  +  CO2  →  Na2CO3 +  H2O

Na2CO3  +  HCl  →  NaHCO3   +  NaCl

NaHCO3  +  HCl  →  NaCl  +  CO2  +  H2O

NaOH  +  HCl  →  NaCl  + H2O

NaOH Na2CO3

a [mol/L] b [mol/L]  

a = 6.6 × 10 2 mol/L b = 1.4 × 10 2 mol/L 

CO32 + H2O HCO3 + OH

6.6 × 10 2 1.4 × 10 2
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(b) 

(c) 

(d) HA A

10.52

 
[H+] = 3.0 × 10 10 × 0.1 = 3.0 × 10 11 mol/L

pH = log10(3.0×10 11) 0.477+11  10.52 
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(a)

(b)

Pa

(c)

mol

9.7 × 104

7.0 × 10 4

x mol
pV  nRT

9.7 × 104 × 18 × 10 3  x × 8.3 × 103 × 300
x  7.0 × 10 4 mol

1.01 × 105  4.0 × 103  9.7 × 104 Pa

2H2O2 2O  O2
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(d)

mol/(L s)

(e)

mol/L

(f)

s 1

v   k H2O2

2.3 × 10 3  k  ×

k   3.9 × 10 3 s 1

0.66 ×   1.4 × 10 3  5.2 × 10 3 mol

5.2 × 10 3 ×   5.2 × 10 1 mol/L

5.2 × 10 1

60
7.0  10 4  2  1.4  10 3 mol

1.4  10 3   1.4  10 1 mol/L

2.3 × 10 3

3.9 × 10 3

1000
10

10
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10

(0.66 5.2 10 1)
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